
SAP ABAP table /BA1/TF4_STDYC {Standard Yield Curves}

_BA1_TF4_STDYC

MANDT [CLNT (3)]

MDCODE [CHAR (4)]

YCTYPE [CHAR (4)]

CCY [CUKY (5)]

SPRDTYPE [CHAR (4)]

SKALID [CHAR (2)]

_BA1_TF4_SPRDTYP

MANDT [CLNT (3)]

MDCODE [CHAR (4)]

SPRDTYPE [CHAR (4)]

 /BA1/TF4_STDYC-SPRDTYPE = /BA1/TF4_SPRDTYP-SPRDTYPE 
0..N

1

_BA1_TF4_YCURVE

MANDT [CLNT (3)]

MDCODE [CHAR (4)]

YCTYPE [CHAR (4)]

CCY [CUKY (5)]

 /BA1/TF4_STDYC-CCY = /BA1/TF4_YCURVE-CCY 

11  /BA1/TF4_STDYC-MDCODE = /BA1/TF4_YCURVE-MDCODE 
11  /BA1/TF4_STDYC-YCTYPE = /BA1/TF4_YCURVE-YCTYPE 
11

TFACD

IDENT [CHAR (2)]

 /BA1/TF4_STDYC-SKALID = TFACD-IDENT 

0..N

1


